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The figures in the margin indicate full marks
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1. (a) Indicate which of the following
statements are True or False : 1x4=4

(i) Cost Accounting is the oldest
branch of accounting.

(i) Purchase order is prepared by the
purchasing department.

(i) Fixed overhead cost is a committed

: cost.

(iv) Process Costing is ordinarily
-applied where all the operations are
performed in one department.
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( Continued )

(33

Or

() Explain fully the concept of ‘cost’.
Distinguish between Direct Cost and
Indirect Cost. Also describe the

principal aims of classifying the costs.
2+6+6=14

4. (a) Prepare Stores Ledger A/c using FIFO
and LIFO method for issue pricing :

; 7+7=14

2022 Units Pnce per unit
February 1 Opening Balance 300 : 20
» S Purchases : “ o QOO 55 22
» 11 Issues 5.5 ST
» 22 Purchases P ag
> 24 Issues Sry - At
» 28 Issues 200 P
» 28 Shortages 5 2

Or,

(b) Production section of a factory working
on the job order system pays their
workers under the Rowan Premium
Bonus Scheme. Workers also get a’ .=
‘dearness allowance of L4 120 per week
of 48 hours. A worker’s basxc wage 181



y of 8 hours and his time
veek is summarised below :

Time Allowed Time Taken
(in hours} (in hours)

25 20
30 20
' 8

48

e gross wages he has
the week and indicate the
which the wages amounts
ed.

t Allocation and Cost
nt. Explain the various
ortionment of overheads to
‘with illustrations as to the

nses. 2+2+6=10

Or

. Machine Hour Rate from

14

19

{8}

(iv) Rent and rates for the shop per
month—¢ 200 ' ’

v) General lxghtmg for the shcp per
month—-—f 300 ‘

(vi) Insurance  premium for the
machine per annum—~% 960

(vii) Repairs and maintenance expenses
per annum—t 1,000

(viiij) Per consumption : 10 units per
hour and rate of power per
100 units—% 20

(ix) Estimated working hour per annum
is 2200 hours which includes
setting up time of 200 hours

(x) Shop supervisor’s salary per
month—¥ 600

(xi) The machine occtipies %t_h of the
total area of shop

(xi) The supervisor is expected to devote
Lth of his time in supervising the
machine

6. (a) What do you mean by Unit Costing? In
Whlch industries ‘unit  costing is
apphed? Explam its purposes e
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to finished stock. It is
that in each process

ctjvely.

the figures relating to both

Process—A Process—B

1000 tons 70 tons
T 125 ¥ 200
¥ 28,000 ¥ 10,000
¥ 8,000 ¥ 5,250
830 tons 780 tons

rocess Cost A/cs showing cost
each process. There was no
work-in-progress in any

e the purposes of Reconciliation
and Financial Accounts? Why is
sary to reconcile the profits
by Cost and Financial Accounts?

4+5=9
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Or

(b) The following is the Trading and Profit &
Loss A/c of Madan Industries Ltd. for
the year ended 31st March, 2022 :

Particulars 4 Particulars 4
To Materials 45,000 By Sales . ; : "
»  Wages 33,000 (4800 units) 96,000
»  Works »  Closing Stock ‘
Expenses 24,000 {1200 units) 20,400
»  Administrative
Expenses 6,000
» Net Profit ) 8,400 ’ : g3
1,16,400 X 1,16,300

The company’s Cost Accounts show as

under : s

(1) Works overheads have been
absorbed at ¥ 3 per unit produced

(2) Administrative overheads have
been absorbed at ¥1:50 per unit
produced ;

You are required to prepare— :

- (i) a statement of c@rsti indicating net
profit; o :

{ii) a reconciliation statement. '4+S}»=9*~ -
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